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Besides the above Hindustan Steel Ltd. have been granted

a cash subsidy equal to 25% of the unrecoupable

shortworkings by the Central Government.

Show ledger Accounts in the books of Hindustan Steel

Ltd.

g ©im fa. 7 1 38 _mqm&mﬂw_ﬂwﬂm%@

H OF T H 9L Fefafaa a6t 9w o @Q

(i) SR ges 21 oy &

(i) —gFaH BruEn T 12,000

(i) 5% af At agFERd TR IEA o 3 a6l 7F AW
% S 9 T 2,500 F s e

(iv) &sam & 7 ew R gl Ra
% oguE & & FH & Rar s, W dE A
I #, G2ER F el # @ & Rie e
R | 40% 3t g2 e

(v) U9 ©E aul & HE 30 SH 8 -
T B o A A T g IR

31.03.79 7,000
31.03.80 " 10,200
31.03.81 " 16,100
31.03.82 : 13,60 &
31.03.83 " 10,800
31.03.84 ¥ (73 B9 =)
9,700
(5 W8 ©F awEal)

e @ s Bgam &9 [ @ 9 99 @)
agEd A H 25% AT HY G § Ah] e
ff ura 2
g €9 . 31 gl d @ SR

61150

61150
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FINANCIALACCOUNTING-II
Paper-2.01

p Timeallowed : 3 hours] [Maximum marks : 80

Note : Attempt five questions in all, selecting one question
Sfrom each unit. Question No. 1 is compulsory.

Jle : A% $HE @ GF 997 g7 §U T 9T 997 B T
q&r 1 afyard &1 ol get & o a8

1.  Write short notes on the following : 2x8
Frt oy il e ford 2x8
(a) Maintenance Suspense A/c.
qUHA TeE Al

(b) Hire-purchase Sales Day book.

et Fa-fsa 2fe geas
L) (c) Exchange Suspense A/c

fafmg T @

(d) Inter Departmental transfers
3= fEarily swrreT

(e) Piecemeal Distribution of Assets
grafedl &1 GR-4R [

(f) Rule of Gamer Vs. Murray
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(g) Difference between Joint Venture & Partnership
Hgga Aed wd gEar ¥ oWl
(h) Royalty Reserve
awet ford
Unit-I

-1

What is Hire Purchase System ? State its characteristics. .

Differentiate between Hire Purchase System & Credit
Sale. 44,8

o w9 vef g € 7 3 Aol @ avie wX)

o 9 GEig o9 g fEmt ¥ S aaRu |

X Lid. sold 3 cars for Rs. 6,00,000 on Hire purchase
basis to Y on 1.1.2004. The terms of agreement provided
for Rs. 1,20,000 as down payment and the balance of
cash price in three equal instalments together with
interest @ 10 p.a. The instalments were payable on the
following basis : First instalment on 31.12.2004, Second
installment on 31.12.2005. Third instalment on
31.12.2006. X paid the two instalments in the time but
could not pay the third instalment on due date.
As a consequence the hire vendor reprocessed the two
cars and valued them at 6% of the cash price paid. Y
charges depreciation @ 10% on diminishing balance
method. Prepare necessary ledger account in the
books of Y. 16
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Unit-11

ECIES |
4. A Head Office sends goods to its branch at 20%
less than the list price. Goods are sold to customers at
cost plus 100%. From the following particulars find the
profit made at Head Office and the branch on the

wholesale basis :

H.O. Branch
Opening Stock at cost 20,000 -
Opening Stock at invoice price - 16,000
Purchases 3,00,000 -
Goods sent to branch at invoice price 96,000 -
Sales 2,70,000 80,000
Expenses 11,000 6,000
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Unit-11I
Assume that Head Office also sells goods to customers Fare-111

at list price.

6. TheB/SofX,Y and Z on the date of dissolution was as
o qu FEieE @ F A, g 5§ 20% FH W

follows :

ot 21 AT F AW A A 100% S ST S :
@ mﬂd mgmm Creditors 40,000] Stock 42.000
2| Frt Rl @ 9o RE SIT AMET H ARF SR Employees Saving Bank | 20,000| Prepaid Exps. 2,000
g7 @9 9 P ) ® Lowfomz 5,000| Debtors 32,000
O FER STl QOutstanding Expenses 10,000 _uE_._“__HE.n 10,000
Capital : Machinery 84,000
it i @ W 20,000 = X 80,000| Cash at Bank 5,000
yrefted Tl 96 ge 9 - 16,000 T ¢ 55,000| Adv. Susperse Alc | 15,000
Captial A/c "Y' 20,000
i 2,900 K 2,10,000 2,10,000

o T T e B A A 96,000 -

Z was appointed to realise the assets and pay the

EER] 2,70,000 80,000 liabilities. He was entitled to receive 5% commission
&g 11,000 6,000 on the amounts finally paid to other partners as Capital.
qg W T B 9 HEid JEE O o 7 W He was also to bear the expenses of realisation. Assets
Faar B were realised as follows :

Debtors Rs. 20,000, Stock at 60% of its book value,
Furniture Rs. 7500, Machinery Rs. 70,000. Expenses
of Realisation amounted to Rs. 1500. An office
typewriter, not shown in the books of accounts realised

5. (a) Differencebetween BranchA/cand Departmentajgy )
Alc.
g @i ud et ' # |

(b) Whatare the advantages of preparing departmental for Rs. 2500. There was a contingent liability of Rs. 5000
Accounts ? 88 - for bill discounted for which Rs. 3200 had to be paid. Y
i @d g9 @ 941 @H € ¢ 8.8 was declared insolvent and only Rs. 11600 were

recovered from his private estate. Prepare Necessary
accounts.
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, Unit-1V
faerest @t faf ot oo, A oF @ @ Fer Fes ar -1V
Creditors 40,000 Stock 42,000 s : ;
Employees Saving Bank | 20,000 Prepaid Exps. 2,000 8. gﬁ_m.ﬂcE__”ﬂ%EH ? Difference between Joint Venture
Loan from Z 5,000| Debtors 32,000 & Partnership. . it i
Outstanding Expenses 10,000| Furniture 10,000 m_m_m_ I mﬁqw ! m_m 1 Hed U H
Capital : Machinery 84,000 C S (AL 4,12
X 80,000| Cash at Bank 5,000
¥ 55.000| Adv. Suspense Alc "m.bn___n. | ‘ :,_.—_-n—-.-uﬁﬂ—.— Wnﬂﬂ_. _...nﬂ. obtained a lease from Mw_“..ﬂﬁ- W@Hm
_ Captial Alc'Y' | 20,000 Coal Mine on 1st April, 1978 on the following terms :
i 2,10,000 : 2,10,000 (i) Royalty at¥ 1 per ton
Wk s B S e i M"“Wu HMHHEE«M%M M&Mﬂ”ﬂwwm f each year duri
F 3 fre Prgg Ben ) 9 ‘o e @1 GoR e S bl el
: three years following subject for a maximum of ¥
3 afm R W 5% FHIE I FHH HAEE 2,500 p.a.
&I | SfE F ﬂw%_ﬂﬂ T 1500 BT TF FATY TR, (iv) Inthe event of strike the minimum Rent would be
st Mm_mw § ¢t foarar 71 &, & fasa | T 2,500 91 taken pro-rata on the basis of actual working days,
B0 aiga g 8g ¥5,000 & wwifad e 2 R but in the events of lockout, the lessee would enjoy
¥3,200 YA w2 A R @y w R a concession in respect of minimum rent for 40%
g IO AT wRE § # T 11,600 I gU of the period of lockout.
HAF @ 4950 | (v) Working upto first 6 years is as follows :
! o Yearendedon  Actual Royalty Amount(3)
7. (a) Difference between Realization Account &g 4 31.03.79 " 7.000
Revaluation mnnnna..“ 31.03.80 " 10,200
Il @ O YA @ e | 31.03.81 : 16,100
(b) Difference between dissolution of a firm and 31.03.82 3 13,600
dissolution of Partnership. 31.03.83 4 10,800
o 3 TUOT qoT WEEE B T § T W 31.03.84 " (Strike for 73 days)
9,700
%ﬂ — # 3
{Lockout for 5 months)
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Besides the above Hindustan Steel Ltd. have been granted
a cash subsidy equal to 25% of the unrecoupable
shortworkings by the Central Government.
Show ledger Accounts in the books of Hindustan Steel
Lid.
g € f0. 3 1989 1978 5t o ffes @ Hiad
&ﬁﬂﬂﬂﬁﬂwﬂ@@miﬂsﬂguﬂ
(i) AER g6 T1 9 T
(i) =9 FHuar T 12,000
(iil) 7% T A agEed TR IEE I 3 a9 96 9N
B @ 9T ¥ 2,500 @ FiYE FE#6 )
(iv) &S @ & 3§ ey P awafas Fe el
P g F & 9 FT RAT SwW, Wy AEad B
39 ¥, UEeRR H awEdl H @y & o e
R H 40% F ge e
(v) ToH B g9 & FE S0 UHH &
o § o # aafes ﬂﬁﬁn g7k g )

31.03.79 7,000
31.03.80 " 10,200
31.03.81 . 16,100

31.03.82 " 13,60%
31.03.83 " 10,800
31.03.84 " (73 &9 &=am)
9,700
(5 W& % drEe)

I @ SR RgEm w@a . & T a9 8]
TgFE A F 25% T FHY THH Q T GEEA
A g &

fgem e . @ g § @ &9

61150
S L |I||t

61150

B.Com 2nd Semester (Pass Course) wef Academic
Session 2014-15 onwards Current Scheme
Examination, }1 ril-2018

FINANCIALACCOUNTING-I1
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®, Time allowed : 3 hours] [Maximum marks : 80

Note : Attempt five questions in all, selecting one question
[from each unit. Question No. 1 is compulsory.

e : 9% S0 @ QB 49 g0 §Y 9 W AT B T
TEqr 1 e & @t get 3 s aurT &

1.  Write short notes on the following : 2%8
= g dfte [ie fod 21%8
(a) Maintenance Suspense A/c.
AU Hag @rdl

(b) Hire-purchase Sales Day book.
e #a-fawa 3Fe g

(c) Exchange Suspense A/c
g Ia= @
(d) Inter Departmental transfers
=1 e smm
(e) Piecemeal Distribution of Assets
geafodl & dR-dR R
(f) Rule of Garner Vs. Murray
THT F9M A & A
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